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Th.eﬁgures ‘rh t!w margm mamte_ﬁtﬂ marks
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Ar.lswer all 'q‘_-lestmns SR

1. Answer the followmg questlans in I'word or

! in I sentence each . “:% ]cz Y}V
- {a) What is Lettres de oa,chet? 4‘."),‘!"5 *‘I‘L""‘

- (b) Who consumted the Seeoad Estate in
- France? (ln’:suyr‘:b’ crg-ﬂ-—

| (c)f " What is. corvee? rv:w W"ﬁ"?% “""”“’ W}""
Cend¥y —wvarom
- (d)  “L* etat Cest moi. {I am- the state.) Who
s - said’ this? Lowad A c

(e) ’ .,Nazne the French f}hﬂbsopher who
-advocated constltutmnal monarchy‘
unbgann
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) When did the Holy Roman Emplre L :
formally comé to an’ f:nd? ;M L

'(g) Who founded the Holy Alliance?

ki

2. Anawer the followxng m bnef N _' | 2X4=8 '.
ﬁ{a} What were the two Republican groups '
‘the Legisl: t e Assembl Fr
in the gislativ bl of F ange;

mﬁg/ Which were the two Repubhcs created
u::‘n«’ ,b,yé\[ P leon E opaparte in, It%? Qupkid

m .

- {¢) Name any two powers that supported o
' Turkey in the Crimean War. &, R ?.%

- {d) | Name emy two victorious battles fought
o by Ganbald.l agamst Austna | N .
3. Wnte short notas qn any three uf the
following : T A A 5x3=15

A s VT T
(b) The Th:trd Estatﬁ ~/ 2.0V
:?"'fﬁi'f _The Revoluuon of 1830 ‘-/

B {d) FOfEign POhCSF of Napoleon IH

. _}:{e) ; -Giuseppe Mazmm J‘

_4 Answer any three of the followmg 10><3==30

- (a) - D1scuss the “‘economic causes of the
~ French Revoluﬁnn of’ 1789

(b)' How was the Frem:h Repubhc trans— o
D farmed inte a xmhtary dictatorehxp‘? |

W, ',;_,. E
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(3 )

Tc) Trace the Circumstances leading to the
downfall of Napoleon Bonaparte

(d) To what ‘extent was the Congress of
Vienna -and the Copcert of Europe
successful in mamtam1ng the balance of

. power in Europe? - . |

- \/@) Evaluate the role "of Blsmarck in the

AR umﬁcat:on of Germany | e |
Cavour’s mplomacy in the Crimean War
paved the way for the umﬁcatmn of
Italy. Comment |
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